Finding the nth term
The nth term of a sequence is an algebraic expression that will enable you to work out any term in the sequence.
For the sequence:  5, 11, 17, 23, 29, ……..        the nth term is    6n - 1
This is because the sequence is like the six times table ( it is going up in sixes)
However it is always one less than the six times table:
6, 12, 18, 24, 30, ……
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If you remember DINO this will help you find the nth term.
D
difference

I
in front of

N      
(n!), plus the

O
one before the first term.

For the sequence:  5, 11, 17, 23, 29, ……..      

D
the difference is 6, so put that 
I
in front of 
N
n, and the 







-1, 5, 11, 17, 23

O
one before the first term would be:    -1    if you continued the pattern backwards.
So that is how you get   6n -1

